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Question 51.If 4/5th of a number exceeds its 3/4th by 8. then the number is :
et H&aT FT 4/5 AT 3EF 34 W 8 IAF A N FEM FAE ?

Options:

1) 130

120

160

150

N

)
)
3)
4)
Correct Answer: 160

Question 52.The rate of discount being given on a shirt,where selling price is Rs. 546 after deducting a

discount of Rs. 109 on its marked price, is

TF FAlT W A S W@ g T T FAT g wE RFT qew 38 HfFA AT W Rs. 109 A FT FeaA
% 91 Rs. 576 & ?

Options:

1) 14%

2) 18%

3) 15%

4) 16%

Correct Answer: 16%

Question 53.If the ratio of two numbers is 1:5 and their product is 320, then the difference between the

squares of these two numbers is

Ife o FEATHT FT AT 1:5 & AN 3T TG 320 &, A 3 aF FEAH F Tt F AT A Fraenm
g ?

Options:

1) 1024

2) 1256



3) 1536

4) 1435

Correct Answer: 1536

Question 54.Numbers of boys and girls are 'x' and 'y’ respectively ; ages of a girl and a boy are 'a’ years
and 'b’ years respectively. The average age (in years) of all boys and girls.

a3Hl Ta FsfFal fr wedr A X IR 'y B o ash 3R v a8F At Hg FAw: 2’ ¥ HR b ad g
Tt asat 3wl #r tea Iy fraeh (awf & ) @ 2

Options:
1)

x+y
bx + ay

2)

bx + ay
xX+y

3)

ax + by
x+y

4)
x+y
ax + by
Correct Answer:
x+y
bx + ay

Question 55.A man bought 30 defective machines for Rs. 1000. He repaired and sold them @ Rs. 300

per machine. He got profit of Rs. 150 per machine. How much did he spend on repairs ?(in Rupees)

& ogfad & 30 @I Al Rs. 1000 # @IEN| 38T 3aHT AFAT HU I 3¢ Rs. 300 i #@fT dr ax
¥ 9 feATl 39 Rs. 150 9far #elieT ey gaml 3@ #GHAd W fhaa T @d e 2

Options:

1) 5500
2) 4500
3) 3500
4) 2500

Correct Answer: 3500



Question 56.x is 5 times longer than y. The percentage by which y in less than x is :
Xy & 5T oar g1 yx ¥ fraar gfcera w7 ¢ 2

Options:

1) 50%

2) 40%

3) 80%

4) 70%

Correct Answer: 80%

Question 57.A motor cycle gives an average of 45 km per litre. If the cost of petrol is Rs. 20/litre. The

amount required to complete a journey of 540 km is, (in Rupees)

T Al AEfFa 45 FAL/Aer o1 sitaa et €1 IfE 9 Fr AT Rs. 20 gfa e §, ar 540 fn.a.
@ IrEr ot F A fraeh U Ay (F F ) smaegwar geft 2

Options:

1) 120

2) 360

3) 200

4) 240

Correct Answer: 240

Question 58.A sum of money amounts to Rs. 6655 at the rate of 10% compounded annuallly for 3 years.
The sum of money is

F$ YA 10% THITE afF T W 3 a9 # Rs. 6655 § Tl §1 4=fy fraeht § 2

Options:

1) Rs.5000
2) Rs.5500

3) Rs.6000

4) Rs.6100

Correct Answer: Rs.5000
Question 59.



If x*- 4x + 1 = 0, then the value of

x+1
3

is

IEx2 —4x+1=0ar (

x°+1
= ) T AT FABT|
Options:
1) 48
2) 52
3)55
4) 58
Correct Answer: 52

Question 60.

If (a—2)+ = —1 then, the value of (a+ 2)*+ is

(a+2) (a +2)2

e (a-2)+ 1 =1, W (as2)?+ 1 SIHH RGN
(a+2) (a +2)?

Options:

1)7

2) 11

3)23

4)27

Correct Answer: 7

Question 61.

If X 13 thenxequalsto
J“m'ﬁ

13
af 1+%= 5 - x R aaR g



4) 25

Correct Answer: 25

Question 62.If 'O’ is the incentre of the A PQR. If ZPOR = 115°then value of 2PQR is
Ifg '0' APQR #T 3ia:¥+5 & 3 2POR =115° g, af LPQR &1 AT F4T § ?
Options:

1) 40°

2) 65°

3) 50°

4) 25°

Correct Answer: 50°

Question 63.The inradius of triangle is 4 cm and its area is 34 sq. cm. the perimeter of the traingle is
v e 1 s Brear 4 @) ¥ ik swE dawa 34 o dA 7 Beger &1 aRAg w=w @ 2
Options:

1)8.5cm

8.5 9.4

2) 17 cm
17 QAT

3) 34 cm
34 @AY

4) 20 cm
20 ..

Correct Answer: 17 cm

17 @A

Question 64.If tanB+cot6 = 2 then the value of tann® + cotn® is
gfg tan@+ cot® = 2 g, @ tannb + cotn® T AT FIT M ?
Options:
1) 2n
2) 2n/2
1
3) 22
4)2

Correct Answer: 2



Question 65.A certain number of men can do a piece of work in 60 days. If there were 6 men more, the

work can be finished 20 days earlier. The number of men working is
6 gfad el 7 # 60 e & &7 gava ¥ afX 6 =afFa 3k & o w07 20 e wger U & whar B
FEG AfFadl f1 g&ar fhast § ?

Options:

4)24
Correct Answer: 12

Question 66.

Ifa?=b+c,b’=c+a,c’=a+b,
then the value of
1 1 1

3(a+1 + b+1 2 C+1)

1 1 1
Wa=bt+ebi=cta,d=a+bM3(—=+ ) &1 Al & gEI?

+
+1 b+1 c+1

Options:

4)4
Correct Answer: 3
Question 67.The area of a triangle ABC is 10.8 cm2. If CP = PB and 2AQ = QB then the area of the

triangle APQ is
vs s ABC &1 &awer 10.8 4512 %1 If& CP =PB 3k 2AQ = QB &), af fisfsr APQ &1 &a%er faa @

?
Options:

1) 3.6 cm?
3.6 9.2

2) 0.9 cm?
0.9 7.2

3) 2.7 cm?
2.7 QA



4) 1.8 cm?
1.8 A2

Correct Answer: 1.8 cm?

1.8 a.#.
Question 68.ABCD is a trapezium in which AD||BC and AB = DC = 10 m. then the distance of AD from

BC is
ABCD T ¥#Ho#a ¢ fo@d AD||BC 31X AB=DC =10 1. &, a AD & BC #1 gt wira oy ?

A D
10m
45°
B C

Options:
1)

10\f§m

10V2AT.
2)
4\/2 m
4+J2 #r
3)
5vV2m
52 #Y.
4)
6\/2 m
62 #.

Correct Answer: 3
Question 69.From the top of a building 60 metre high, the angle of depression of the top and bottom of

a tower are observed to be 30° and 60°. The height of the tower in metre is



60 #Y. I sART & Y F, vk e’ & Y v uig F sr@afa For 30° 3w 60° R@E &3 &1 eraw A
Far$ (Fex /) frash @el 2

Options:

1) 40

2) 45

3)50

4) 55

Correct Answer: 40

Question 70.If a circle of radius 12 cm is divided into two equal parts by one concentric circle,then

radius of inner circle is

I 12 q. B a@ god A oF GHfT goa g@arT @ R s A faenfaa R smar @, @Y saieE
gea A Bear frash el 2

Options:

1) 6 cm

6 4.7

2)4 cm
4 7.7

3) 6v2cm
62 T

4) 442 cm
N2 9.

Correct Answer: 6\2cm

6V2 a.#.

Question 71.If cosx = siny and cot ( x-40°) = tan (50°-y), then the value of x and y are ;

I cos x = sin y 3iX cot (x-40°) = tan ( 50° - y) @, @ x 3iX y F1 & F4T gy ?

Options:

1)x=70°y=20°

2)x=75°y=15°

3)x=85°%y=5"°

4)x =80° y=10°

Correct Answer: x = 85°, y = 5°

The bar graph shows the number of males and females(in crores) in India during 1951-1991. Read the

graph and answer the following questions

fw 717 AR I, AT # ¥ 19511991 F gRier gt IR Afenst Fr wEwr N AT Far g1 IE w7
T F 3N AT vt F1 3cax o
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Question 72. What was the approximate percentage of female population in India during 1991 ?

R # 1991 F 2RIt AR IS F1 AT wforera 4T 41 2

Correct Answer: 48.23

Question 73. What was the approximate number of males in India in 1971 per thousands females
#Ra # 1971 # ufer goR Afeemr w0 gt A srpmfaa @ frae o 2

Options:

1) 913

2) 1075

3) 1077

4) 1175

Correct Answer: 1077

Question 74. What is the ratio of the numbers of females in India in 1961 per thousand males to the
number of males in India in 1991 per thousand females ?

R & 1961 # iy goR qwal W Afpenadt fir F&am AR wRa # 1991 F 9fy gor Al w gt A
AT FT Heara e & 2

Options:

1) 943:1077

2)1077:943



3) 1073:913

4) 913:1073

Correct Answer: 913:1073

Question 75. Assuming that the rate of increase in the total population in India during 1991-2001
remains the same as that was during the period 1981-1991, estimate the total population in India in

2001.
Ig AR % ARA A 1991-2001 & SRIaT Fer Jmarer H gfererar giy 1981-1991 A 3af®r & Shrer wicrera

gfe & e ff, 9Ra # 2001 F T IEE FT A Hiod|
Options:

1) 105.62 crores

105.62 HUS

2) 106.25 crores
106.25 FUS

3) 106.52 crores
106.52 HUS

4) 105.26 crores
105.26 HUS

Correct Answer: 106.25 crores

106.25 #S
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